
§·¤æ§ü / Unit-I

1. (a) Âýæð»ýæç×¢» ×æòÇUÜ ·¤æð â×Ûææ§°Ð

Explain programming model.
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Note : Answer any one part from each question. All
questions carry equal marks. Non-programmable
calculators are allowed.
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(b) È¤æ§Ü È¤æò×ðüçÅ¢U» ·¤è ç·ý¤ØæçßçÏ ·¤æð â×Ûææ§°Ð

Explain the working method of file
formatting.

§·¤æ§ü / Unit-II

2. (a) ‹ØêÅUÙ çßçÏ mæÚUæ x4 – x – 10 ·ð¤ ×êÜ Áæð ç·¤
x = 2 ·ð¤ ÙÁÎè·¤ ãUæð, Îàæ×Üß ·ð¤ ÌèÙ SÍæÙæð´
Ì·¤ ™ææÌ ·¤èçÁ°Ð
By Newton method find the root which
are nearer to x = 2 of x4 – x – 10 upto
three decimal places.

(b) ‹ØêÅUÙ-·¤æðÅU âê˜æ ·¤æð â×Ûææ§°Ð

Explain Newton-Cote’s formula.

§·¤æ§ü / Unit-III

3. (a) çÙ`Ù ¥æÃØêãU ·¤æ ¥æ§U»ðÙ ×æÙ °ß¢ ¥æ§»ðÙ
âçÎàæ ™ææÌ ·¤èçÁ°Ð

5 0 1

0 2 0

1 0 5

A

 
   
  

Find the eigenvalue and eigenvectors of
the following matrix :

5 0 1

0 2 0

1 0 5

A

 
   
  
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(b) ¿æðÜðS·¤è çßçÏ ·¤æð â×Ûææ§°Ð
Explain Cholesky’s method.

§·¤æ§ü / Unit-IV

4. (a) ØêÜÚU çßçÏ mæÚUæ çÙ`Ù â×è·¤ÚU‡æ

dy y x

dx y x




ÁãUæ¡ ÂÚU y = 1 ÌÍæ x = 0 ãñUÐ x = 0.1 ·ð¤
âç‹Ù·¤ÅU ãÜ ÂýæŒÌ ·¤èçÁ°Ð

Find the solution of the following
equation

dy y x

dx y x




where y = 1 and x = 0 by Euler method
with approximation x = 0.1.

(b) çÙ`Ùæ¢ç·¤Ì ÇðUÅUæ ·ð¤ çÜ° °·¤ âÚUÜ ÚðU¹æ ·¤æð
çÈ¤ÅU ·¤èçÁ° ÁãUæ¡ x °·¤ SßÌ¢˜æ ¿ÚU ãñU Ñ

x 0 1 2 3 4

y 1 1.8 3.3 4.5 6.3

Fit a straight line for the following data
where x is an independent variable :

x 0 1 2 3 4

y 1 1.8 3.3 4.5 6.3
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§·¤æ§ü / Unit-V

5. (a) ÀUÎ÷×-ØæÎë‘ÀU â¢BØæ ·¤è ÃØæBØæ ·¤èçÁ°Ð

Explain Pseudo-Random number.

(b) ×æ‹ÅUæð-·¤æÜæðü â×æ·¤ÜÙ ·¤æð â×Ûææ§°Ð

Explain Monto-Carlo integration.
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